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Dec. 2nd: 10.10 : Taylor and Maclaurin Series

In-Class Exercises

Defn. The Taylor Series for f centered at c is the series
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The Maclaurin Series for f is the series
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namely it is the Taylor Series for f centered at 0.
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1. Compute the first 4 terms of the Taylor series for f(z) = V& + 1 with center 0.
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2. Compute the Taylor series for f(z) = % centered at 2.
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3. (Clicker) Compute the Maclaurin series for f(z) = e®.
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4. gompute the Magclaurin series for f(z) = sinx.
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5. (Clicker) Fix any number k. Compute the Maclaurin series for f(z) = (1 + z)*.
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Defn. The N** degree Taylor palynomial of f with center c is the polynomial:
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The Remainder RN (:c) of Taylor series is defined as
Ry(z) = f(z) — Tn(=).

6. (Clicker) Compute the 3™ degree Taylor polynomial T3(z) of f(z) = V& + 1 with center ¢ = 0.
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